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[1 O create table t(i number,v mubmer not null) create table t(i
number,v mubmer unique) create table t(i number constraint pk_i
primary key,v number) create table t2(c number,d



number,constraint fk_d foreign key(c),references t1(v)). alter table t
add constraint pk_i primary key (i) alter table t modify i not null.
alter table t add constraint t_i unique(i)[(create index ind_name on
t(i))]. alter table t add constraint t_i check(iin (1,2,3,4,5)). alter table
t disable novalidate constraint i alter table t enable novalidate
constraint check_i alter table t 0drop constraint i. alter table t 0drop
primary key I. #0J 0 O 0O O O O dba_constraints
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[0 O 0O SQLgt. insert into t values(1,2). SQLgt. commit. SQLgt.
Insert into t values(,10). ERROR at line 1: ORA-01400: cannot insert
NULL into ("Y"."T"."I") SQLgt. Oselect index_name from
user_indexes. INDEX NAME -----=-====-cmmmmmmmmmem e PK I
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row created. SQLgt. commit. Commit complete. SQLgt. Oselect
index_name from user_indexes. no rows Oselected [J [0 OO [ O [
Oo00o00o0oo0oooooooooooooooodgo
000000 SQLgt. alter table t enable novalidate constraint pk_i.
alter table t enable validate constraint pk_i ERROR at line 1.
ORA-02437: cannot validate (SYS.PK_I) - primary key violated [
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SQLgt. alter table t enable novalidate constraint pk_i. Table altered.
SQLgt. Oselect * from t. [ V --------—= ——=m o 1234
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SQLgt.conny /123 SQLgt. alter table t add constraint pk_i primary
key (i) exceptions into exceptions. Oselect * from t where rowid in
(Oselect row_id from exceptions) | V ----------
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Oselect * fromt. IV —--—------ === om——- 1234101215100 0 O
[J O O alter table t add constraint pk_i primary key (i) Table
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